Teaching Materials (12)

Workers want more money, yet their employers say no and insist on modernisation. Elsewhere, talk is now of interest rates increasing, which will hopefully reduce consumer demand and stimulate savings and maybe investment. All of these suggest a fall in Aggregate Demand as incomes are squeezed. Already we are noting a drop in the house price boom and most observers are predicting that growth forecast might be a little optimistic. What will be the response of suppliers? Will Aggregate Supply fall? If so, by how much and when? All of these macroeconomic questions need to be answered. It provides economists with a perfect opportunity to test both their theories and diagrams.

The theory

Establishing an equilibrium

We need to think about how we are going to predict changes within the economy and illustrate these with the use of diagrams. This will take us into an analysis of the two major schools of economic thought.

Both of the major schools of economics essentially agree that in the short run the AD curve slopes downwards and the AS curve is upward sloping. The equilibrium level of output in the short run is where the two curves cross.

In the long run opinions differ as to where equilibrium arises. The Classical school feels that the LRAS curve is VERTICAL and that equilibrium is achieved where LRAS intersects with AD. This level of output is at the point in the economy where full employment is achieved. Hence, there can be no unemployment in the long run situation. We can see this in the diagram below.

Normal diagramPRIVATE "TYPE=PICT;ALT=Classical equilibrium"
Keynesian economists, however, argue that the LRAS curve is shaped as in the diagram below. This, they argue allows for equilibrium to be achieved beneath full employment.

Normal diagramPRIVATE "TYPE=PICT;ALT=Keynesian AS curve"
The main disagreement between the two schools rests on the extent to which workers react to unemployment by them having to accept real wages cuts. Classical economists feel that a rise in unemployment will quickly lead to falls in the level of real wages. This reaction will increase the demand for labour and reduce its supply, so allowing a return to equilibrium. Keynesians argue that wages are sticky and do not automatically adjust to the pressures of unemployment. The labour market will not therefore clear, except in the very long run.

So, what happens if one of the conditions for AD alters? When considering this we have to make one assumption, which is that if AD goes up then in the short term AS will remain unchanged. The Classical school will argue that if AD moves outwards, say if the marginal propensity to consume increases, then the economy will also move outwards i.e. a higher level of real output will be achieved. The AS will not be able to respond in the short run and so this increase in output will be accompanied by a rise in the price level. We can see this from the shift from AD1 to AD2 in the diagram below. The economy is now moving into the long run and the LRAS curve is fixed, so what will happen? The economy is operating at above full employment level and therefore a shortage of labour will arise. Other factors may also be in short supply. This normally leads to an increase in their prices. We draw the short run AS curve with the assumption that wages and costs remain constant, so a rise in wages and other costs will cause the short run AS to move upwards, Short run equilibrium output will fall and prices will continue to rise. The economy will only return to long run equilibrium when short run AS has shifted upwards so that aggregate demand once again equals the LRAS curve. We can see this in the diagram below with a shift from SRAS1 to SRAS2. The conclusion made by the Classical school is that increases in AD will initially cause prices and output to rise BUT as this occurs the output will fall as the economy falls back to its original long run equilibrium. So, increases in AD will cause prices to rise unless LRAS can also be increased.
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Keynesians disagree with this and state that a shift in AD can be inflationary but only if the economy is already at full employment. If the economy is in recession or running at less than full labour utilisation then initially an increase in AD will not be inflationary. However, once the full employment equilibrium level is reached price pressures will arise unless LRAS can be increased.

PRIVATE "TYPE=PICT;ALT=Keynesian - increase in AD"Normal diagrams
Let's now turn our attention to changes in long run aggregate supply. This means that the ability of the economy to increase output has increased in real terms. How will the two schools view this? The Classical school considers that an increase in LRAS will lead to both higher output and lower prices. We can see this in the diagram below. LRAS has increased but prices have not risen. Classical economist would argue that this has arisen because supply-side policies have been applied.

Normal diagramPRIVATE "TYPE=PICT;ALT=Classical - increase in AS"
Keynesians differ in their opinion of what happens when LRAS changes (the diagram below shows how they believe the AS curve shifts). They argue that this change in the economy will cause output to rise but prices to fall, though they do state that for this to take place the economy must be below full employment level. If the economy is below full employment then AD can shift to the right and the rise in LRAS will still benefit the economy. This school of thought does not agree that supply-side policies boost an economy during a recession. Only a shift in AD will move an economy out of recession. Put in simple terms the above analysis represents the central argument between economists and their political masters over the last thirty years.

Normal diagramPRIVATE "TYPE=PICT;ALT=Keynesian - increase in AS"
One more situation can arise, namely an increase in both AD and AS. Then what happens? Let's assume that investment has risen in real terms and we can therefore predict a shift in AD. This means that a movement will take place along the AS curve. There is now a new equilibrium. We then assume that this increase in real investment is accurately and quickly applied to the economy and the LRAS curves responds by shifting to the right. Long run equilibrium will have changed. Output will have risen and prices fallen. A new short run AS curve will have appeared and it is below the old short run AS curve because we are assuming that investment has reduced the costs of production. So, the extent to which an increase in investment boosts the economy in real terms depends on the rate of return that investment can earn. Let's now turn our attention to fiscal and monetary policies and see how they can influence this equilibrium.

Whilst working through this exercise you might like to check your knowledge of:

Fiscal policy

The essentials are:

· the manipulation of the economy via changes in taxation and borrowing and how these affect aggregate demand 

· the effects on AD as the result of the multiplier 

· the difference between Classical and Keynesian interpretations 

· the use of tax and spend policies to smooth out cyclical movements in an economy 

· the impact of fiscal changes on trade flows 

Chancellors use fiscal policy to alter the activity rates of the economy. They budget for either a surplus or deficit and then make spending plans in an attempt to influence economic behaviour.

As we know changes in spending affects AD e.g. a cut in income tax l we assume, will increase spending and cause AD to shift to the right. This is using fiscal policy to expand the economy and might by some economists be considered a loosening of what is called the fiscal stance. In contrast an increase in tax levels would be a tightening of the fiscal stance. A rise in government spending (G) will not just increase AD; there will be a multiplier effect. The multiplier will be larger the smaller the number of leakages from the circular flow. Keynesians believe that the multiplier, even with leakages, will increase output if the economy is below full employment.

All governments like to achieve certain economic goals. These normally centre on:

· keeping inflation as low as possible and certainly in line with the Euro convergence criteria 

· keeping employment as high as possible 

· maintaining adequate levels of economic growth 

· keeping the trade balance reasonably stable 

· maintaining a redistribution of income and wealth 

· keeping environmental damage to a minimum 

If we look at inflation we normally conclude that a budget deficit will be inflationary as spending will be running above tax receipts, whilst a surplus will put some form of a brake on price rises. At this point it's worth revising the PSNCR (both positive and negative).

Obviously, other factors affect the impact of an increase in public spending on prices. These are:

· the size of the spending increase 

· the spare capacity (AS curve) within the economy 

The level of impact also splits the two schools of thought within economics. Classical economists state that in the long run the LRAS curve is vertical and so an increase in AD could be very inflationary. The Keynesians suggest that the LRAS curve is L shaped and so the economy can expand without high price rises being caused. Whilst the increase in output is within the flat section of the LRAS curve prices do not rise but beyond that point they do.

Similarly, when a budget deficit is planned for, or the surplus is cut we predict that unemployment will fall. An increase in the deficit should increase AD and so the economy will absorb more labour. However, we once again have to be aware of other factors. These are:

· the size of the change in government spending 

· the amount and quality of labour available to fill the requirements post the expansion 

As with inflation the major schools of thought disagree as to the effect of changes in spending on employment. If you are a classicist then the vertical LRAS will only produce inflation and no fall in unemployment. If your loyalties lie more with the followers of Keynes then unemployment can fall as long as the programme starts with the economy at less then full employment.

Growth is another interesting topic to analyse. Expansionary fiscal policies will affect the short run AD curve as GDP will rise but in the long run it is supply side alterations that increase growth. Again the two schools are at odds here as the classical interpretation is that the vertical LRAS will not move and so growth will not take place. The Keynesians state that beneath full employment and in a recession fiscal policy will boost output and therefore growth. However, they do warn of the economy expanding too much and what is known as over-heating taking place.

Trade flows should be affected by an expansionary fiscal stance, as AD will increase. The increase in consumer incomes should boost imports and cause deterioration in the current account balance. A tighter stance will have the opposite effect. However, if domestic demand drops this might force UK firms to seek export opportunities to save cutting capacity. Also, a fall in AD should reduce inflationary pressures and boost export competitiveness.

All of the above involve trade-offs and you always need to consider if, by increasing spending, a government (a) reduces unemployment but (b) increases prices, or if by tightening their fiscal stance they reduce inflation but only at the cost of increased unemployment, or if by attacking a high current account deficit via increased taxes/reduced spending the economy contracts and unemployment rises

Some questions

1. What does an economist mean by the terms (a) Aggregate Demand and (b) Aggregate Supply?

2. How do the two schools interpretation of equilibrium?

3. Outline how a Chancellor might make use of fiscal policy.

4. In what ways has the introduction of a more active awareness of AD and AS analysis altered macroeconomic policy options?

Some suggested answers

1. Aggregate Demand is the total of all planned expenditure in an economy at each level of prices. It is calculated by adding together all the spending plans of all the major groups in the economy. These are consumers © firms investment expenditure (I), government/ public expenditure (G) and the net level of spending on overseas trade i.e. exports (X) – imports (M). Therefore AD=C+I+G+(X-M). Aggregate Supply is the total of all planned production at each level of prices. It can therefore be considered as the total quantity supplied at every price level or the total of all goods and services produced in an economy in a given period of time.

2. They essentially agree that in the short run the AD curve slopes downwards and the AS curve slopes upwards. The equilibrium level of output in the short run is where the two cross. In the long run opinions differ as to where the equilibrium arises. The classical school feels that the LRAS curve is vertical and that equilibrium is achieved where LRAS intersects with AD. This level of output is at the point in the economy where full employment is achieved. Hence, there can be no unemployment in the long run. We can see this in the diagram below.

Diagram

      Keynesian economists, however, argue that the LRAS is shaped as the diagram below. This, they argue allows for equilibrium to be achieved beneath full employment 

The main disagreement between the two schools centres on the extent to which workers react to unemployment and accept real wage cuts. Classical economists feel that a rise in unemployment will quickly lead to falls in real wage levels. The demand for labour will fall and reduce its supply, so allowing a return to the equilibrium. Keynesians argue that wages are sticky and do not automatically adjust to the pressures of unemployment. The labour market will not therefore clear, except in the very long run.

3. 

Chancellors use fiscal policy to alter the activity rates of the economy. They budget for either a surplus or deficit and then make spending plans in an attempt to influence economic behaviour.

As we know changes in spending affects AD e.g. a cut in income tax (a direct tax) we assume, will increase spending and cause AD to shift to the right. This is using fiscal policy to expand the economy and might by some economists be considered a loosening of what is called the fiscal stance. In contrast an increase in tax levels ( both direct and indirect) would be a tightening of the fiscal stance. A rise in government spending (G) will not just increase AD; there will be a multiplier effect. The multiplier will be larger the smaller the number of leakages from the circular flow. Keynesians believe that the multiplier, even with leakages, will increase output if the economy is below full employment.

All governments like to achieve certain economic goals. These normally centre on:

· keeping inflation as low as possible and certainly in line with the Euro convergence criteria 

· keeping employment as high as possible 

· maintaining adequate levels of economic growth 

· keeping the trade balance reasonably stable 

· maintaining a redistribution of income and wealth 

· keeping environmental damage to a minimum 

If we look at inflation we normally conclude that a budget deficit will be inflationary as spending will be running above tax receipts, whilst a surplus will put some form of a brake on price rises. At this point it's worth revising the PSNCR (both positive and negative).

Obviously, other factors affect the impact of an increase in public spending on prices. These are:

· the size of the spending increase 

· the spare capacity (AS curve) within the economy 

4. With a greater awareness of the implications of AD has come an increased emphasis on certain policy options. 

(a) Monetary policy – this especially the case with the use of interest rates to manipulate the economy. Inflationary pressures are targeted by changes in short term interest rates. A tighter control is kept on the expansion of the money supply and this too is thought to a useful tool in the fight against inflation.

(b) Fiscal policy – though less important than monetary policy the ‘fiscal stance’ is part of the policy mix used by government. Tax rates, spending plans and the deficit/surplus numbers are all part of the overall economic management.

To these have been added supply-side polices, such as labour and capital market reforms, privatisation, de-regulation and increased expenditure on education and training.

The government now aims for ‘sustainable growth’ (low inflation with high employment) and uses a variety of polices to try and achieve this. 

